AN ROINN OIDEACHATIS M. 58,

INTERMEDTIATE CERTIFICATE EXAMINATTIODN, 1964,

MATHEMATICS (Algebra).

TUESDAY, 9th JUNE. — Morning, 10 to 12.30.

ALL gquestlons to be answered.

Mathematlecal Tables may be obtained from the Superintendent.

1. (1) Solve the equation:

3G -2) -1 -3) =1,
(11) If o is a whole number, such that 50 — L is greater than 1 and less than 21, find
the values of g.
(28 marks,)

2. 1,010 tickets were sold, some at 18. 6d, each and the remainder at 2s. 6d. each.
The amount received for tickete sold at 18. 6d. each was less by £5 18, than the
amount receilved for those sold at 2s. 6d. each, How many tickete at 18, 6d. each
were sold %

(28 marks,)

3. (1) Solve the equation:
(2 + 12 = (x — 2P.

(ﬂi) Pind, correct to two decimal places, the values of x that satisfy the equation
Lliﬂz‘*'hxz'i.
(28 marks,)

Le (a) Factorise:
(1) a? — 2Ba + 2l
(i1) 2 — 3% —z + y.
(b) The expression x® — 2px? — (4p + 1)x + 6 has (x — p) 88 & factor for certain values
of p. Find those values of p.
(28 marks,)

5 (1) Simplify q*q;:ﬁg by rationalising the denominator.

(11) If 2 =1 + N2 and oy = 1, find the value of z + y and of x> + e

(t11) If p® = 2p + 1, show that p® = 5p + 2,
(28 marke.)

6. (1) Prove that log,MN = loggM + loggN.
4

(1) Show, without using the Tables, that log,6 + log N8 + 1og4% =7 ¢

(111) If @® + 1 = 3x, show that log(x + 1) — +logx = % los5.
(%0 marks.)

fe Draw a graph of 2x? — Lx — L(=y) for values of z from —2 to +. .
Find from your graph, as accurately as you can,
(1) the value of y when z = 35, and what other value of = gives that same value to y;
(11) the roots of the equations x? — 2z — 2 = 0, 2? — 26 —1 = 0,
(30 marks.)



